Wi N LG IR 3K

T 4 MBS
MOBEZER] 2 WERR BT R S T
T3 042 H 26 H
T bitj] ~ T F= & pr | MEETRT A HIN
T3 043 H30H
i TIEE [~137. 5m
Jiti TR A=550. 0m2
T 1K FEEPET. (AR50 V= 2.0m3
PRIEPEIE T, A=550. 0m2
T & B = BT A=550. 0m2
FET A=550. 0m2
TAI—T [= 40.0m
RIS 12300 X 300 [ 6.0m
FRE3 042 H 23 H (4) —EIR S EAKE TR TR 9
A L B OB Jrsam 0
Hi 9 FF ‘ 50—2
% FL ¥ EF 4
wo1T 5 & — %A AAL SR T v 7 HIREAE
TEAMME (Bitk) 2,770,000 H |&IEHIBRAE FiR) 2,390,000 M
AL A (Bl ) 2,390,000 H | A # = % 1 [a] 7% FL = | 86.28%
B & N AL Al #% 2,581,200 H (NHEZER%H 191,200H)
A AL e £
(AfLBINE 9 ¥
JIEAL * = 4 ANFL A8 (Bik %) i £
1 et B ainE 2,390,000 Y= A
1 RS- ke 2,390,000
1 etk — e 2,390,000
1 MX&tttakac 2,390,000
1 RIAET 2,390,000
8 RS g R 2,400,000 N2 A
1 ka7 v 7 HIRST 2,390,000 |[&LKLED
8 5 A= S my Ty = G 2,400,000
1 By sa e an 2,390,000 SN2 A




